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oy AL [xF 13
A= 0o - B awe 02=%" donc azx
et bB*=12  done b=Viz"
b:\)_"x\/_
:\F?:'FX\E-
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A= (a-b)(a+b)
AGD: (< -23)(x+203))

b) B(yd= .//,”'* + 12y + 4
B(&_)- a? +3%b+ B auwe o= 98‘2 (33)2&3\; az3!
et b’zk =2 donc bz2
Domo 2 20s, 2ab= A%y x2.= 1Ay
Bly)=z (a+bf
ITNECTETN):
) G (=)= T +A6a =26 =
D= X" - x +J68
ldCed = at = 2ab + b% auee a*=2" done a=2e
et b*=169 donc \o:\/ﬁs-' =13
Dome C2 coo, A0z AXXxI3=26x
c(x)= (a-b)*
Ct= (= -13)*

d) D= Ablx + MLx* +35
D= AL 2% + Al e +36
D)= A% + dab +b? owee a’: !t,ux (\/Tt.x) ({21
done oz Al

¢ B*=36-6% done b=6



Swile du 28 mgg:Loo

Dans @ econ, Rb=zAxI2x x6= Alux
D)= (o.-&b\’-
D= (2x+e)

e) £z (3x+1) = (2x)
EG= a® = b* asec a*=(3x+)* do az 3xel

et b*= (2x) done b=2x

E()= (a-b)(a+b)
E.'(x.\': ( DX+l -2%) C3x+| +2x)
EC)=  (3c+4) (Dx+4)

) Fb: 9k -k + e
FlH)= o? -20b +6* awe a%=9%k%:z (36)* done a=3k
ek b2z16= 4> done b=l
Tans Cacon, Rob= Ax DL xi =4t
F(£)= (a-b)?
F(J:\: (BJ:-LD"

8) G ()= -2% + A2 =" +1
G(x)= A4 2* - 224 4+ 4
GGz 0F-2ab +k* auee a’= lQIf:.(mQZ done aN2'x
o=Mx
ek B=A=A% AOhci:.-._d
Dans &2 cas, 2ab= 2xllxxli=22x
GE):= (a-b)° = (Adw=d)
h) HE@= (x+1)*-9
H(xX)= 0% - B lavee aZ?= (x+1)* donc o.=x-+£
ek B=2=3* done bz3
H(): (a—b}(a-«-b\ = (x+t=2)(x+1+ )z (x-2D)(x+4) '




